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#include <stdio.h>
struct student {

int number; // St
char name[10]; // Ol&
double grade; /] <3

%
void main()
{
20190001, "&&€ 3", 43 };
//  printf("SRHES MlQ '; scanf_s("%d", &s.number);
//  printf("O|E2

%

//  printf("&H™ HIQ ), scanf:s("%lf", &s.grade);

printf("stH %de", s.number);
printf("O| & : %sWn", s.name);
printf"& & : %.11fwn", s.grade);

13.2 +XH|o| &2
- N E BHE JHX = F&A|

(B 572%) MAHZ point #+EMZ S0 HHU FYE ZHHCL

#include <stdio.h> void main()
struct point { {
int x; struct rect r = { {10, 10}, {20, 30} };
int y; int width =
} int height =
struct rect { int area = width * height;
struct point pT; int peri = (width + height) * 2;
struct point p2; printf"HA 2 %d 0|11, E&fl& %d LLICEWn", area, peri);
% }

- TEM W0l Y - p2=p1; = p2x=plx py=ply;
- =M ol HI : pl == p2 (LF ) U0 plx==p2x && ply==p2y
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(WX 575%) 3F SHlo| CIXArEE FAMO| E1, 2tHO| ZHBICL
void main()
{ int n = sizeof(list) /\ X
struct student list[] = { for (int i=0; i<n; i++) {
{ 20190001, "2 &€ &", 43}, printf("StH: %d, dH: %s, == %.11fwn",
{ 20190002, "& 4", 3.92 }, list[il.number, list[il.name, list[i].grade);
{ 20190003, "O|- A", 2.87 } }
Y }

134 M|t ZQIE
- HEME 7te|7|= EQIE : struct student s={24, "Kim", 4.3}, *p = &s;
- MO M : p->year £ (*p).year

(WX 578%) ZOIEE ARSI FxH HHE Yoot

—

void main()
{
struct student list[3] = {
{ 20190001, "B& 3", 43 },
{ 20190002, "& 4", 3.92 },
{ 20190003, "O|‘dA|", 2.87 }
b=l
for (int i=0; i<3; i++, p++) {
printf("SHH: %d, HH: %s, SH: %.11fWn", p->number, p->name, p->grade);

}

}

- B71'Y 2F : *pyear = *(pyear) & &1, *p->number = *(p->number) 2t ZLCt.
- ZOIHE HHZE M= =AM
(W xf 579%) stelo| QIMALE LEMO| MUS FItotC

—

#include <stdio.h>
strcut date { void main()
int year; {
int month; struct date d = { 1980, 3, 20 };
int day; struct student s = { 30, "Kim", 167.2, NULL };
} s.dob :D;
struct student { printf("StH: %d, HH: %s, SE: %.11fWn", s.number, s.name,
int number; s.grade);
char name[10]; printf"dHEY: %d H %d E %d Lwn", s.dob->year,
double grade; s.dob->month, s.dob->day);
struct date *dob; }
by

- A7) 3= FEME 7HSOICL
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135 TXH|Q} e
- AN E Q2 T B int equal(struct student const *p1, struct student *p2);
- N E ghetstE 84 - ostruct student create(int number, char *name, double grade);

(WA 584%) & HECS| S ottt

struct vector { float x; float y; }; void main()

struct vector get_vector_sum(struct vector | {

a, struct vector b); struct vector a = { 2.0, 3.0 };

{ struct vector b = { 5.0, 6.0 };
struct vector result; struct vector sum = get_vector_sum(a, b);
resultx = ax + bx printf("HEH 2| 2 (%.1f, %.1f) Y LICkwn",
resulty = ay + by, sum.x, sum.y);
return result; }

}

13.6 S &4
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- MO union [BE] { B 1, HEE
(WX 586%) SEH AFBE TEMQL =Ystot.

#include <stdio.h>
void main()
{
union example { int i; char c[4]; } v = { ‘A" };
printf(“int=%4x char=%x%x%x%x#n", v.i, v.c[0], v.c[1], v.c[2], v.c[3]);
v.i = 10000;
printf("int=%d char=%x%x%x%x¥#n", v.i, v.c[0], v.c[1], v.c[2], v.c[3]);

}
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13.7 @HE (enumeration[O] - 2{| 0| M])
- M enum (B3] { BET, A2, FAH3, L)

= == W T R

enum boolean { FALSE, TRUE };
enum week { SUN, MON, TUE, WED, THU, FRI, SAT };
enum rainbow { RED, ORANGE, YELLOW, GREEN, BLUE, INDIGO, VIOLET };
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X88te L : enum { ZERO, TWO=2, FOUR=4 };
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13.8 typedef (type define)
- MO . typedef old_type new_type;

typedef unsigned int size_t;

typedef unsigned int UINT32;

typedef unsigned char BYTE;

typedef double REAL;

typedef enum { FALSE, TRUE } BOOL;

typedef struct { int x; int y; } POINT;

typedef struct { double real; double imag; } COMPLEX;

typedef float VECTOR[2]; // VECTOR= &% 2712 O|FO0{Tl 1xt3 Hi
typedef float MATRIX[10][10]; // MATRIXE A= 10%107HZ O|20{Zl 2kt B

- A2 new_type HY:
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#include <stdio.h>
typedef struct { int x; int y; } POINT;
POINT translate(POINTp, POINT delta)
{
POINT new_p;
new_px = px + deltax;
new_py = p.y + deltay;
return new_p;

}

void main()
{
POINT p = { 2, 3}, delta={ 10, 10 };
POINT result = translate( )
printfC M2 HO| ZtEE (%d, %d)LLICHWN", resultx, resulty);

}

- typedef2| &H
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